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1. let x: Int =1 + 1
2. fn square(x: Int) — Int { x * x }
3. let z: Int = square(x) // 4

o IATRAILAYE square 5 x EZANNANERIRMANEZLS
1. let z: Int={2x2 1} // 4
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e R print AIFEANEE—1TFRFR, I print("hello moonbit")
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1. fn init {

2. println("hello moonbit") // EEHBHAIInNRIRIT
3. }

¥ 0071_hello.mbt X > < [ -
¥ 001_hello.mbt
1 fn init {
2 | println("hello moonbit") |
3 }
4
5

PROBLEMS  OUTPUT  TERMINAL Output vIiE 8 ~ X

[INFO] Wasm size: 337B
[INFO] Time cost: 32ms
[INFO] —-

hello moonbit
[INFO] program exited in 0.001s
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1. fn square(x: Int) —> Int { x * x }

2. fn init {

3. let x: Int = {

4. println(*hello moonbit") // <—— FAIESTHAITML, HITHL
5. 1+ 1 // <— 2B, BIIUREXREEEENRIANIRAVE

6. 1}

7. let z: Int = square(x) // 4, #HH—

8. }

PROBLEMS (1 OUTPUT TERMINAL Output v

[INFO] ====== Compilation Statistics ======

[INFO] Wasm size: 359B
[INFO] Time cost: 15ms
[INFO] —-

hello moonbit
[INFO] program exited in 0.003s
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1. fn init {

2. let z: Int = {

3. println("hello moonbit"); // <—— HI{TT7E—/RiH
4, 1+ 1// <— 3R8E: 2

5. } x {

6. println("hello moonbit"); // <— BT T7E_R&E
7. 1+ 1 // <— 3K8ME: 2

8. } // 4, LR

9. }

PROBLEMS (1 OUTPUT TERMINAL Output v

[INFO] ====== Compilation Statistics ======

[INFO] Wasm size: 350B
[INFO] Time cost: 7ms
[INFO] -—

hello moonbit
hello moonbit
[INFO] program exited in 0.001s
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o fn print(String) —> Unit
o fn println(String) —> Unit
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1. fn do_nothing() { // REMENREREN PN EEIREIEER
2. let x =0 // ERANPEREY, FERHEX
3. }
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1. let mut x = 1
2. x =10 // )ﬁt@ﬂ’ﬁm L
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. struct Ref[T] { mut val : T }

. fn init {

let ref: Refl[Int] = { val: 1 } // ref XRERZ2—1TEHIEHE
ref.val = 10 // BT DMEREIIRNFER
println(ref.val.to_string()) // &L 10
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var x = 1 let ref={val :1} mutref={val : 1}

X 1 ref f val 1 ref f val 1

x=21 l ref.val = 10 l ref={val:10}

,4 - ~A
X 2 ref f val 10 ref - val 1

val 10
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. fn alter(a: Ref[Int], b: Ref[Int]) {
a.val = 10

b.val = 20

.t

. fn init {

let x: Ref[Int] = { val : 1 }

alter(x, x)

println(x.val.to_string()) // x.valBEBSEXTH X
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alter(x, x) alter(x, x) alter(x, x)
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1. <EXZ=ER¥)RE>

2. while <3(tNTSEFIMESRER/N>, <WESHITIEN> {
3.}<%EEEMﬁ%$%>

4.

o BTN, FATATARERITR N LIRIE

let mut 1 =0

. while 1 <2, 1 =1+ 1 {
println("Output")

.} // BEEHL2K
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let mut i =0 // <— BT i =F 0
while i <2, i =1+ 1{ // <— It&, FNFKY 1 < 2

println("Output”) // <— 0 < 2, REUILHEHIT, BHE—
c Y /) < R, BAWTL = i+ 2
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1. // WY 1 &FF 1

2. while i <2, i =i+ 1 { // <— Itt&bd, FAIEMT 1 < 2

3. printin("Output") // <— 1 < 2, FHLELAHREERIT, BLETIR
4. } // <— LEE, BAAATLI = 1 + 2
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. // LAY 1 &F 2

while i <2, i =1+ 1{ // <— b4, F(THET i < 2 BERE, ERNER
. Y // <— Bkd

. // <— PEFENIT
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K [0 xE 24l FREE WNE Mg AE O NA  R2 Lighthouse  EREE & MEEBUESH K X
WM  IfEX Bk ABHE » L | 1 B ¢ =1 main.wasm main.mbt X D B, & ¥ T 3¢
fn fib(n : Int) —> Int {
v top var accl = 0 O WRRFEHEs
v localhost:8080 var acc2 = 1
» [ target/wasm-gc/debug/build/main 5 debugger() > =
D (£3l) var i =9 . . v iR
v moonbit:/ 7 while@<n i-1+14 O BEREROSENES
v [ @moonbit-debugging-example/main 9 accl = acc2 O EBRIFERER
[ main.mbt 1o acez =t v e
return accl v Fikst
} » stack: Stack {}
15 fn debugger() = "js" "debugger" v ZRith
16 fn log(n: Int) = "js" "log" » $accl/l: i32 {value: @}
- » $acc2/2: i32 {value: 1}
19 fnléglﬁ i fib(39) » $i/3: 132 {value: @}
20 log(n) » $n/4: 132 {value: 39}
} » $t/5: 132 {value: @}
> 1R
v R
# $$moonbit-debugging-example/main.fib.fn/2 main.mbt:7
$*init*/4 main.mbt:19
= 26
{y ®711, £o7 (RE manwasm) BEE: TEE o) (#30)
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1. let mut <T=> = <¥YIRE>

2. while <¥|Mr2ERER/N>, <NT=2HTERL> {
3.}<%E§§Mﬁ%ﬁ%>

4.

o MARZZERIIER FrRIE R

. fn loop_(<3%>) {

if <¥IBT 2 ERERT> {
<EESFENTHGS>
loop_(<ERERISE>)
} } else { () }

. loop_ (<#tR1E>)
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. let mut 1 =0

. while i <2, i =1+ 1 {
println("Hello!")

. )
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. fn loop_(i: Int) {

if i <2 {
println("Hello!")
loop (i + 1)
) } else { () }

. loop_(0)
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1. fn print_first 3() {

2. let mut 1 =0

3. while i <10, i =1 + 1 {
4. if 1 == {

5. break // BEIM3IFAIRHVIER
6. } else {

7. println(i.to_string())
8. ¥

9. }

10. }
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1. fn print_skip_3() {

2. let mut 1 =0

3. while i <10, i =1+ 1 {
4, if 1 == 3 {

5. continue // Bkid3

6. }else { () }

7. println(i.to_string())
8. }

9. }
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% 001 _hello.mt Error (warning 015): The mutability of 'i' is never used.

¥ 001_hello.m Int
fn ini View Problem (XXF8) Quick Fix... (88.)
var 1 =0
while i < 5 {
| println(i)
}

o Ul A WN

X

« HRLSMERIZROERESGSKREFIAERE, AINEREIXIIREIZLEFR
¥ 001_hello.mbt 1 X

¥ 001_hello.mbt > @ plus_one
1 fn plus_one(i: Int) {
2 | iz
3 Y Expr Type Mismatch
has type : Int
wanted : Unit

(Int, Int) —> Int

View No quick fixes
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. fn fib_mut(n: Int) — Int { // SFEE@EN\, %ﬁ?lﬁﬂﬁﬁuﬂj
let mut accl = 0; let mut acc2 = 1; let mut 1 =20

while i < n, 1 =1+ 1 {
let t = accl + acc2
accl = acc2; acc2 =t

}

accl

oONOUT L WN -

.}
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